
1.

2.

3.

4.

5.

6.

7.

8

9.

?

(A) tTg
(C) 34-I
(E) gfd HA

(A) HAg
(C) hef

(E)3q1fkd 9A

(A)yGI
(C) sisaHT
(E) gafka HA

(D)
(E) fk NA

ferTYGI heT

(A) Reti GHftT

(A)ta h
(C) T 34

(A)

(E)qufA IA

(B) Hgi
(D) 4RTG

(B)à-g

(E) 4qufd IA

(D)T

(B) H
(D)ftat (faste)

(E)gtftd wA

(B) HI5Gt her
(D)shH HHC

fah Rfy 2023 aT 4Ar yehR GlT?

(B) DRI faureff

(D) rtay 3HSIA

(E)31qdfRa uA [A]

fabfeerot fARoH HtTH (HA) 2024, fahet

(B) 4a$
(D) chil

[B]

(A)GT, fagR 3R hethrll

[C]

(B) It, GHdHR GtT TCIAIG

[D]

[AJ

[A]

14-15 3TH 1947 h H uA yfusa sIgR
[C]

[B]

[C]

10. f t f T:

14.

fery,3GYyr âIY HRGHTR 1919 4, ye

15.

(B) hA () 3t h (II) ¿ HI

(D) (I) Ht fh ht (II) 1cld I
(E)3qafkA UA

(A) fg
(C) ft-3Z
(E) gtta NA

3AGRU A? (

(A) IRA dt gfazchet fafAts
(B) fžgI-H -ft farfs

(E) 3rqafkA uA

(B)TA Set
(C) H4 3at

13. HffdaÀ T Tenfta seiT ?
(A) aTE HHhRUI 3uT

(D)tatafAhi 3
(E) 3rgtfA UA

(A)35

AT 34G 55 , at SOT Hdth:

(C) 40
(E) akATA

(B) EJcht (SIg)
(D) AtesE

(A)15 ft
(C) 18 ft

Hat 3Uy# faehe q)

(E) gfra UA

(B) 30

[B]

(D) 20

[A]

(B) 19 ft

ycs h4RT 12 fÌ ea, 9 tsT BÌr 8 f ht

(D)17 f

[C]

[D]

[D]

[D]
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19.

qRf 660 fe uf y 14 fa dgT at

(A) 84 r

(C) 119 fte

22.

17. ye 3ahl4<R fheft arg it20% Ât gifAWE400

(A) 530
(C) 500
(E) gfki 9A

(A)Tifd< THŠ

(E) gka IA

fert ?
(A) dR H|GRHR

(C)3TR.. HGHGIR

(E) gifd yA
20. g

(E) 4gafka HA

a. heH gt

(B)110 fla
(D)115 fR

(A) 29

(B) 550

(C) 21

(D)520

H-HIAIT IRE ?

(B) fadeai

(E) 3grtkA HA

(B)H31cT Teft

(D)ar| 3T42

(A) a - I, b - IV, c - II, d -I
(B) a- I, b - II, c - IV, d -I
(C) a - IV,b - III, c -I,d-II
(D)a - I, b - IV, c- III, d -I
(E)3ifRa yA

III, afzur fargI
IV, atrTfA qrT

(GyT a) fhdft fRurHT fi? (eH

(B) 19

[C]

(D)25

[B]

[D]

[AJ

[C]

[A]

[B]

23. "sfUŠTH ART 3AT-" (3T. y1. ) 1 To

27.

(E) 4qiRA VA

a. fayat 3rizteT I. at- yera HtA
b. aigT HeT

C.

Hlifarg
d.ajta LH

(A) 1985

:

(C) 1981
(E) 3qRa HA

(A)a - I, b - III, C -IV, d -I
(B) a -1, b- II, C- IV, d - II

(C) a - II, b -I,c-IV, d - II
(D) a-III, b -I, c - V, d - II

(E) 3qafkA UN

t fufta ht ?
(A) tt
(E) 3qfka HA

(B) fa 4t

(D)yrT4t

(D)Ali rjR Ac5

(E) 34afR HA

FYrfta ht fey 1944

(E) 34afR HA

IV. reft foHgai

(B) 1979

(A)rRGG HI-UIUAI (3eif Rei)

(D) 1983

(B) 3R. t. H16

[A]

(A) tcoT HETT (cor)
(B)ITqi

[D]

(D) É. GR, SÌ. Y. T

[A]

[D]

[C]

[D]
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29.

30.

fhyT s HChI ?

33.

(A) HHG

(C) ISYyld
(E) 3qfra IA

(A)Fresh air can be had only outside.
(B) He came out to eata little fresh air.
(C) He came outside fora breath of fresh air.

(D)He gulped some fresh air outside
(E)Question not attempted

(E) 4qtfRd HA

31. Choose the most appropriate Hindi word
for- "Endorsement".
(A) GII heI

(A) 16 giTÉ, 2024
(B) 13 GrIÉ, 2022

(E) Questionnot attempted

(C) 14 gÉ, 2022
(D) 15 iIS, 2023
(E) 44fRA HA

(B)HfAHsA HAfA

(D) guft

a.lG h fey y
b.
3f

34. -Ià rN Yft-II aa fAA

c. sfTS uT

(B) y he

(A) a-IV, b-II, c- II, d-I
(B) a-I,b-I1, G-IIL, d - IV

(D) 4GH heI

d. f eft Tgt

[AJ

(C) a-II, b-III, C- IV, d-I
(D) a-III, b-IV, c -I, d - II

(E) 3rqfRa VA

[B]

[C]

[B]

[B]

I. 26 34cRdR, 2020
II. 18 fdR, 2019

III. 20 3414, 2020
IV. 24 5a, 2021

[B]

35. 3fRT Tt TR yfR (36. f. ya. ût.) at

38.

39.

40.

(A)afuft sT

(E) 4qdfk TA

(A)yT

(E) 34qdfRa 9A

(A)A
() g-f
(E)qftd yA

RITŽ?

(A) GHGHR- Gg- chl

(A)80:20
(C) 50:50

(B) GeTt- tye- aIGHR

(C)ftcart- trcAR-yreft

(D) tca- R - AGR

(A)FRreT a
(E)3qfRa yA

(E) 3rgtfka 4A

(B) urif siT
(D) 3Tt TGRH

(B) 4fur
(D)h

(E) gafk HA

RIGFATq 2007-2008 REY fAY Ty 3R

(A)quft itus Aéa

(B) s

(C) Rrgt fAa

(D)HIARHft

(E) 31q1fk 9A

(B) 60:40
(D)70:30

(B) t A
(D) fà a

[B]

(c]

(B) fU A

(D)sfu Aef

[B]

[A]

42. faf qt 2022-23 h HHquf sFH YYÀ

[B]

[B]

(B]

[B]
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47.

at-ft?
(A) zf RHIST

(E) 3gfd yA

(C) 3FRIACft ydd

(A) 36U|TT YCAT

(E)3rgtfkd gA

(A)YTRh 3

(E)afk NA

(tngtu)
(A)SJHG

t?

(E) afta HA

62 qf h ?

(A) 18a Hfdur te
(C) 16a ifaur #Rr
(E) qtftd UN

50. f-I

b.ftrefr 3HTT

(B)qerRT RSIS
(D) GIaE Rus

B) tai yád
(D)HAYGI YEIGU

(B)yr
(D) ahH

(C) a-IV, b-1, c - III, d - I
(D) a-IV, b-III, c - II, d- I

(E) 3gtfRd gA

(D) GI GR SI

(D) sH
(B)4 3TŠ YHY3AR

(B) potl
(D) 3z

rY ft-II 1 feT tI

(A) a-II, b-IV, c- I, d - I

qei-II

(B) a-I, b-II, c - III, d - IV

d.qRHrug hf farT IV Hqda 246 A

Irqtz 82

B) 15a afaeH HRTe

(D) 17ai ifaur HRTer

[B]

II.HUTT4t

[D]

[B]

[D]

[D]

[C]

[C]

[C]

51.

52.

53.

54.

55.

56.

57.

59.

(A) 3ATSAR GA
O)d. GISÍ
(E) 3qfRa IA

(A) 10%

(C) 8%

(A)122
(C) 184 (1)
(E) 3qfk TA

(E) 3qtfa UA

(A)AgT fR
(C) dalg
(E) qfkd HA

(A)AIGRIG fchil
(C) aRIo fchtl

(A) starat
(C) arft
(E) 31q1fR aA

(A)AfAa (uRe) hr B) a oR

(C) fachi h

(A) 2011
(C) 2009
(E)Hgaftd U9

9289, 28, 65, 126,
(A) 217
(C) 194

(B) qi Gte
(D)

(E) gaRa IA

(B) 9%

(D) 7%

sGei

B) 279 A

(D)247

(D) fAT Jrch

(B) MIfaaH t
(D) HIGh T

(B) fartsTg fahcll

(D)

(B) 31gt
(D) aUS

(B)2008
(D) 2010

(B) 204
(D)206

G fhi

[C]

[C]

[B]

[B]

[D]

[D]

[D]

[D]

[AJ
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60

61.

65.

68.

69.

(A)OE3

(C) XL2

(E)gtftd 1A

(A)28 3t, 2006
(C) 18 G, 2006
(E) 4fd HA

(A)atchHH 3TT
(C) qatt
(E)4qifRA 9A

(A)ISYy
(C) fRrT Hft
(E) 34qfRd VA

(A)45990
(C) 36000
(E) 3r4fkd TA

(E) 34gfA TA

(A) 44a1

(C) q41
(E) 3qufRa TA

(A)3RTdt
(C) fH
(E)3qtfRd wA

(A) Hgalch
(C) afthaTaG
(E) 3qfka 1A

(A) ug

(B) PH3

(A) hUR 3HISS Yd SIgISÇT 3HISS

(C) Aa

(D)JB5

(E) gtfRa 9A

(B) 18 3IcH, 2005
(D)28 T, 2005

(B) TeT-H
(D) 34 4Ht

HIZ AIÍEa s (aq) aià (iq) afafhuT

(B)TTT
(D)yeit

(B)26000
(D) 55690

B) "T
(D) 4g1H

(B) fRratec
(D) fSH

(B) A|ch
(D)GnfAaycs

B)a

[B]

(D) R

[C]

[D]

[A]J

fa,zft

[C]

[D]

[B]

[B]

[AJ

[B]

70.

72.

73.

74.

75.

76.

77.

(A) &E

(C) aye
(E) 4gtfRa gA

a) 38
(C) uia
(E) 3qtfRd IN

(E) 34gtfRd gA
11 70 get fahd-f d Gt 7 qufaar

a. Except
C. Excess

(A) a, C, d, b

(C) b, a, d, c

(E) 4qafkd HA

Arfar:

(A)

(C)

(E) 34q1fk uA

(A)IS|
- sfRuTUII

(E) gfRA HA

(A) 43I

(E) qdfk gA

(A) yctteisft
(B) Heiclst
(C)teitsiist

(B) 3ffa
(D) agfa

(D)yciHf

(D) h T

(E) 4dRA 4A

(B)

(D)HTd

b.Expect
d. Exit

(B) b,d, a, c

(D)c, d,a, b

HR:igfaH: 6:?

(B)

(D)

[A]

(B) fa
(D)fag-fui

[D]

[A]

[AJ

(D) H-G

[B]

[D]

[C]

[B]
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78. 628, 429, 183, 249, 416

(A) 6

(C)5
(E) 3rgtfkd 9A

79. qfa fAftarftrTHKAIfayfAHIAT

(C) 3jche

(A)sTH Ghtsrt

(C) 3rarÉ gorefi

(E) gRA IA
80. fAHfafda fhHt TSEYTT à faf FT

fahr?

(E)gfRA IN

(A)3fT
(C) ta

(B) 3

(D) 7

(E) qtftd HA

(E) 4qafk IA [D]

81. Afafaa fahet fasnfrr rizte AI A

HArt ?
(A) TTS
(C) htue

(B) Ìa

(E) 31qfka 9N

(B) qfugA AIR HT 2T4

(D) aTA +RTAG

(B) fasu f3 yfec

[c]

(B) GhtcaF

(D) afAIS

[D]

(B) TpftqG AH

(D) teifeiH

[B]

(B]

[A]

Read the passage and answer the questions

that follow: (Q.84 to 87)

Show me a doctor who is not confused about
nutrition and I will show you a doctor who
has not kept up with research Though
nutritionists like to claim that basic
nutritional advice does not change from year
to year, the truth is that each week brings
newstudies, new research and new health

warninqs. Nor do all the studies agree with
each other. Often they are contradictory and
further confuse lay people.
Part of the problem is that many studies are
financed by the food industry, which has a

vested interest in the outcomes. And mnuch of
the so-called nutritional wisdom that has
been propoundedover the decades doesnot
emerge out of pure science bu out of the
commercial interests of those passing on the
advice.
The most famous example of this sort of
thing may be the rule rigidlyadvocated by
some doctors over the years - tha breakfast
is the most important meal of the day. Skip

breakfast, you will be told, and there will be
damagingconsequences for your health.

You can trace the roots of the advice to

(surprise, surprise!) the American cereal
industry and to such food faddists as the
Kellogg family (owners of the eponynmous

cereal company).
It has always been a peculiarly Anglo-Saxon
idea. People do eat breakfast all over the
world butthey do not necessarily attach such
great importance to it. Nor do countries
without a breakfast tradition see a sharp
decline in public health. For instance, in

France, breakfast may well consist of black
coffee and a cigarette. The cigarette is not a

good idea but the absence of solid food in the
morning doesn't really hurt the French very

much. Until the fast food industry spread all

Over France in the last decade or so, the
French had much lower rates of heart
disease than most
cOuntries.

English-speaking

Inthe US, the bogus breakfast orthodoxy has
led parents to feed children sugary cereals
and stuff like pancakes with suga syrup
(often misleadingly packaged as maple
syrup).There is finally a recognition that the

habreakfast-is-essential myth actually
contributed to a decline in American public
health, the obesity epidemic and to tooth
decay. Manufacturers of sugary cereals are

quickly putting 'low-sugar'
variations.
Some doctors stillinsist that the first meal of

the day may be the most important. But the
scientific evidence supports the view that if

you avoid breakfast nothing terrible will

happen toyou.

Out new
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84. Complete the sentence by choosing the
correct option:
In reality the
advocating the need for taking breakfast.
(A)food Industry
(B)general public
(C) French people
(D) children
(E) Question not attempted

85. According to the conclusion of the
passage, breakfast -

(A)Contributes to an individual's health.
(B)Is essential and not to be skipped.
(C) Skipping cannot harm you.

(D)Is the most significant meal of the day.
(E)Question not attempted

(A)Consumption of savoury food

86. In America, obesity and tooth decay have
assumed the proportion of an epidemic

because of the

(B) Vested interest of the general public
(C) Consumption of sugary cereals.
(D)Greek ideaof breakfast.

benefits from

(E)Question not attempted
87. Boqus means

(A)Confident
(B) False
(C) Big

(D) True

can replace the underlined words:

[A]

(A)got our wires crossed
(B) as clear as mud

(E)Question not attempted
88. Identify the most appropriate idiom which

(C) muddying the Waters
(D) in complete shambles
(E) Question not attempted

[C]

Rohit has the reputation of complicating
and confusing things when any issue is

raised in the meeting.

(D)t. T. VH. HTUrfRa Aufy HSYG HUIeft

(E) 4afRA UA

[c]

[B]

[C]

[A]

fhr lT?
(A)tR
(C) hR

93.

(E) qaRa 19

95.

91. Identify the word that can best substitute
thegiven expression:
One whois too strong to be defeated.
(A) Invincible
(B) Invulnerable

(A) Fervor

(E) Questionnot attempted

(C) Stupor

92. Identify the most appropriate antonym of
the given word from below: APATHY

(A)Heading

(E)Question not attempted

(C) Salutation

A formal letter concludes with a -

(A) AGSI AUH, 1976

(B)dachH

(D) GiufH

Choose the most appropriate option from
below to complete the sentence:

(A) yH y

(E) 4gRG TA

(A)#ATcf

(C) Indefatigable

(E) Question not attempted

(C) et
(E) gTfta UA

(D) Insolvent

(A) itgsfta yjy

(B) IGIIT 3fafAgH, 1963
(C) RIsTISI 3fafH, 1967

(D)IHTAT AUH, 1973
(E) 3rgrtfa 9A

(B)H4RT ABI
(C)HfAch GaT

(B)Stoicism
(D)Aloofness

(D) RA chH 3dI
(E) 44fd 9A

(B)Subject
(D) Signature

[AJ

(B) 3H y
(D) 3-4 q8g

[A]

(B) urft
(D) 3U

[A]

[D]

[A]

(D]

[D]

[D]
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99.

(E) fk TA

Choose the most
complete the given sentence.
They withheld his results. He
proof of his age.

(A) doesn't furnish
(B)has not furnished
(C) had not furnished
(D)didn't furnish
(E) Question not attempted

complete the given sentence:
There was
opened it and found

(A)a, a, the, the

100. Choose the most appropriate option to

in blue overcoat and

(C) the, a, ,the

(A) 1969 1972
(C) 1961 1964

(E) 3ifA IA

(B) RreT GT AfACATR

(D)HH-I Ghl fechr

(A)2012
(C) 2007

appropriate option to

(E) Question not attempted

(E)3qfRa UA

knock on

103. TuFH UCHTtta
(A)23 4jr, 2023
(C) 18 fAds, 2022
(E)344fd HA

(A) 1GHat, 2015

(C) 15 3TR, 2014
(E) 3qtfRa aA

105. fAffea

(B) a, the, a, a

(D) an, the, an, a

(B) 1957 1960

(D) 1966 1969

door. I

smalldark man
woollen cap.

102 s. afda à rdsar Hdf faaT; HEIUAT

(B)2006
(D)2010

(B) 17 daR, 2022
(D) 20fR, 2023

(B) 1Hat, 2014

(D)15 3RG, 2015

[C]

qtfaa ut fty:
(A)GTR. GR, , – chfg fad

the

(B) 3T6.st. dt. HT. - 3teychlfh U

(D)q. t. 3T. – ta fifd
(E)4afRA UN

[C]

(B]

[D]

[*]

[B]

[AJ

[AJ

106. 1991 À, sÌutfrs aa fafuua gá, hget

(A) 17

(B) 20
(E)4Rd aA

(A)Gfta-tth
(C) quT
(E) qafka TA

(E)3qafa uA
109. Afafta

C. T
e. 4

(A)hdt b, d, 3ir e

(C)hei a, G, 3tRe
(E) 3gtfka HA

110. 'Deputation'
(A) Agft
(c) Agfth
(E) 344RA NA

(A)31ffacat
(B) 3ffdat
(C) 3fGfaal
(D) GTsfaa
(E) dfk TA

(A) 1914

B) 1904

(C) 1910

111. fAfefàa À'nfttea' 5K

(D)1912

(C) 14

(E) 3jtfkd 9A

(D)24

(B) u
(D) FTH

h- eafi sutg ž?
b.G

d.

(B) hai b, c,str d

(D) hdia, d, sîr e

(B) afafyf
(D) sfaya

[A]

[D]

(B]

fy fÌ HHHes tz -(C]

(B]

[D]

[B]
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(B)FY4 (I) 3R GhH (II) HtžI

(D) hA () Hsà Gtco h2H (I) TdSI
(E)gtfkd uA

114. HIgR YRT ht, "e tatneat ât qzT",

fht GlT :
(B) fAfA Gct yh-HR tGT

(E)3rqdfRa HA

(A) 1952

(B) 1962

(O) 1969

(D) 1972

(E) gufRa yA

(A) iTAf
(B)fR6T4t a AucRI

(D)fsu ai-chf
(E) qiRA UA

arhItRrT (ASR)

appropriate option:
He was indignant

(A) at

117. Fill in the blank by choosing the most

by the smooth talk of the salesman.

(B)with
(C) in

(D)of

[D]

(E)Question not attempted

[D]

[C]

[*]

being cheated

[A]

118. Change the direct speech into indirect
speech by selecting the most appropriate
option from below:
He said, "I do not wish to see any of you,
go away.
(A) He told that he didnot wish to see usand
ordered usto go away.

(B) He said that the had not wished to see any
of them andordered them to goaway.
(C) He told that he did not wish to see any of

them and ordered them to go away.

(D) Hesaid that he does not wish to see any
of us andordered us to go away.
(E)Question not attempted

119. Change the sentence into passive voice by
choosing the most appropriate option:
They feed the seals at the zoo twice a day.
(A)Twice a day the seals are being fed at the
ZO0.

(B) The zoo feeds the seals twice a day.
(C) They feed the seals twice a day at the zoo.

(D) The seals are fed twice a day at the zoo

(E)Questión not attempted

(A) airI
(C) art
(E) 3rdfRa uN

(B) ySell
(C) j
(D)sifgu
(E)4qafa TA

122. TeTfort
(A)AEHUTG

(B) 1

(C) q
(D) G

gcft h rfrra?

(E) 4gafkA HA

(A) t.t. HRIHIÉ
(B) ut fRIHT
(C) sftrTH Teft

[C]

(D)IHIG 4T

(B)TH-HT

(D)

(E) 3qdfRa GA

(D]

[D]

[A]

[D]

(B]
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124. t
HYT (I): 1857 fastz (yfa-) tf artz

(A) Gh(I) 11àaf chH(I) HsI

fy y:

(D) h (I) fah he (II) Te1d I
(E)3qfRd uA

(A)3Issifaa-I57
(C) Aut
(E) R NA

(ag) à fafehr d
(A)Zn(N0:), + NO + H;0
(B)Zn(N0:)2 + H,0 + N;0
(C) Zn(NO:)2 + H2

(D) Zn(NO:)2 + HO + NO,
(E) 4qafk yA

(A) As

(E) 31qtfd IA

(A) T
(C) qsT

127. EaHtH (TUra) fafta 4 yF

(E)gtftd HA

129. gf'threat' at

(B) fdhR
(D) GT

(A)29947512655
(C)29947612955
(E) 3qaRa 4A

,
at'BRIDGESTONE'T Hsz:

(A) 31 fah,f.

(B) 5E

(D)tzifuR

(C) 25 h, f.
(E)qafkA UA

(B) HqchT

(D)

(B) 27947513855
(D) 28947612855

[A]

[D]

s 289512 at fahut GaI

(B)27 fah,ft.

(D]

(D) 26 f, ft.

[C]

3THR 24 fa, ft. TI 3iR 3HchR 7 f, ft. fti

[D]

[AJ

131. A, B, C, D, E 3R F yh úth sR âi 3tR Ha

(A) D

(C) A

(E) tfRAIA

(A)GILHMATY

WOUNDS: DNOSUW::ALMIGHTY:?

(C) AIGHLMTY

(E)afkd 9A

(A)

(C)

(4)

Problem Figure / H4T Tpf

(i (ii)

(E)qafka IA

(A) 4:5:2
(B) 6:9:4
(C) 6:7:4
(D) 7:8:5

(iü)

(E) qtfRA IA

(B) E

?

(D)F

(iv)

(B) AIGHTYLM

(D) AGHILMTY

(B)

(D)

(8)

(D)%

[A]

[D]

[B]

135. fAa, HfAa3r fag 2800 f yf t5:6

15

16

[C]

check
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(C) t. G

(E)qiRd IA

(A)HetsT
(C)Htztest
(E)3gfA HA

(A) 3TŠ HIAI

(C) stu HIdI

(E) 4q1fRd HA

Hafta T?

(E) 3rqtfRa HA

140. zfea qf
(A) 484G 3Heft

(B) H8lcHI |eft

(D) siqIgeilef g5
(E)Hgafr TA

139. yT HHGtat, 1932 =fafta à f tT

(E)gfkA UA

142. IguyuruftIGA
(A) 26 cH
(B) 20
(C) 22 i

o, faht Ftfta faur?

(D) 24 s

(B) HSlGH ef

141. FarfMa yts, faet dafaa ?

(E)31qfRa uA

(D) HRGR deiTs 4i

(B) #T t tar 3t

(B)5gW
(D)jtqTI

(C) faa TatT
(D)qa 3TT

(B) HUit HIdI

(D) HHRI HIGI

[D]

[A]

[B]

[AJ

[C]

[D]

[D]

[A]

144. af 7.5% anfcs sys À8 qyi as Zifr

(A)12,000
(C) 12,500
(E) 31qtfkd 9A

(A)quf tar

(E) 3q1fRa 9N

(A)fuaT + 3T2RT

(c) fT + e

(E) 3qtfkd uA

(E) gfka 1A

(A)asÊt
(C) hUrH
(E)34dfRa HA

(A) TeRI
(O)

(E)gtRT 9A

(B)20,000
(D) 10,000

(B)Ž
R

(B)f + 3ARI

(D) fug+ TGR

(B) hR
(D)e

(B) ZIHI
(D)4

[D]

[c]

[D]

[C]

[D]

[B]

[c]

check
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